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Normal Ordering (Ax? = 0.97)

Inverted Ordering (best fit)

Any Ordering

bfp 1o 30 range bfp 1o 30 range 30 range

sin? 619 0.30470:013 0.270 — 0.344 0.30470 513 0.270 — 0.344 0.270 — 0.344
012/° 33.481072 31.29 — 35.91 33.4870 7% 31.29 — 35.91 31.29 — 35.91
sin? a3 0.45270 052 0.382 — 0.643 0.57970 0an 0.389 — 0.644 0.385 — 0.644
023/° 42.373-2 38.2 — 53.3 495115 38.6 — 53.3 38.3 — 53.3
sin? 013 0.021879-091%  0.0186 — 0.0250 | 0.0219F5:901;  0.0188 — 0.0251 0.0188 — 0.0251
613/° 8.5015:30 7.85 — 9.10 8.5170:30 7.87 = 9.11 7.87 = 9.11
Scp/° 306139 0 — 360 254163 0 — 360 0 — 360

Amg1 +0.19 +0.19
105 ov? 7.50019 7.02 — 8.09 7.507019 7.02 — 8.09 7.02 — 8.09

AmZ, +2.325 — +2.599

10-3 eV?2

+2.457F5:047

+2.317 — +2.607

—2.44975:048

—2.590 — —2.307

—2.590 — —2.307




